ID: 1
Geometry Name

Assignment Date Period

Find the other endpoint of the line segment with the given endpoint and midpoint.

21 1 15
1) Endpoint: |-2—, —], midpoint: (-5, 1 2) Endpoint: [-2—, —1], midpoint: [4—, —
) npom( 72) midpoint: (=5, 1) ) npom( 5 )m|p0|n(23)
5 1 5 1
A) (-1,-5 B) [-7=, 1= A) |-3—,-1—
) (-1,-5) )( - 2) ) (B¢ 3)
oY = Y o (144!
28 14 4 g8 3
o 2. 61)
22
9 1
D) |-1—,
3) Endpoint: (ﬁ,—ll), midpoint: (i 13) 4) Ign(ipoim: C— )2) midpoint: (3,21)
8 4 45 78 32
A) (—51, —3) B) (i, 11) A (-1 11)
2 16 40 1127 12
o) o2l o 16,11
8 20 16 40 21 16
C) 21, 61)
21 8
D) 4l 1)
21
5) Endpoint: (—E i) midpoint: (—3i, i) 6) Endpoint: (231) midpoint: (2 z)
75 53 6 3 32
A) (—sé, 12) B) (—3—7,—11) A) (l, E) B) (2,-2)
35 15 70 30 1212
34 4 7 1 1 1
C) (6,1 D) |— —-—— C) 12—, 1— D) |-— ——
) ( ) ) (35 15) ) ( 12 12) ) ( 2 3)
7 5 1 5 1 1
7) Endpoint: |-, 7], midpoint: {0, — 8) Endpoint: [—, ——|, midpoint: [—, 2—
et ), mipon o)  expin =3, i 2
1 4 7 .1 1 1
A |-1—,-5= B) [—, 3= A) |-, 6— B) (—4,-3
Jebs IS LT
C) (61, 3) D) (4L, i) C) (0,—11) D) (—E, li)
2 12 14 8 24 12

= gagsgs.mabh-worksheeh.ory
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9) Endpoint: (Z Z) midpoint: (l 31) 10) Endpoint: (—2, —21), midpoint: (21, —2)
58 2 4 8 3

A) (i _li) B) (11 17) A) (_21,_1) B) ( 1 l)
20" 16 80" 8 6 16 16" 6

o [543 o353 0 (0.-23) o) (6214
2" 2 578 2 38

11) Endpoint: (—i 32), midpoint: (—11,—2) 12) Endpoint: ( 1 ll), midpoint: (—%,4§)
5 5 3 4" 3 37

e W [Ba2) e (ke
1074 24" 721 272
C) (—1%, —7%) D) (2,7) C) (15—2 11%) D) ( 15 2221)

13) Endpoint: (—i 0), midpoint: (i 1—5) 14) Endpoint: (O, 21), midpoint: (—21, 23)
3 5 8 3 2 4

115 2 27 15
) (— E,—1—6) B) (‘5’ 1%) A) (-2,-3) B) (12,—5)
ofds) o ofihd) o s

15) Endpoint; (2, —22), midpoint; (—%4%) 16) Endpoint: (-1, —4), midpoint: (0,—%)

A%QAHH) &GE}H N@@% &(i4%
5 28 7 80 3 2
Q@Lg mpL<£% qpﬁﬁi) >QL41)
2 10 112 2 12 2 12
int: 2\ midooint: (4L — 12 int: (=2 2] midooint: (-2 —
17) Endpoint: (—2,—4), midpoint: (42, 8) 18) Endpomt.( 2, 5), mldpomt.( g’ 2)
AwﬁLi) m@Lag Mtﬁﬂi) m@ldﬂ
4 16 2 16 10 4 5
5 .5 1 1 1 3
C) ( 1§ 1£) D) (—15,—5) C) (-6,2) D) (_E’ _IE)
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5 5 2
19) Endpoint: |[—, 0], midpoint; |—, —2—
) Endp (8 ) P (8 3)
1 1
A) [0, 1— B) |-2—, -1
) ( 3) ) ( 2 )

o) bl
8 3 16" 48

21) Endpoint: (—21, 2) midpoint: (1 11)
8 3 6 8
k) e[
2 48 48

29 2 13 7
C) N D) (612, L
48" 48 24" 12

23) Endpoint: (3: —i) midpoint: (Z 11)
7 7 4 2
A) (_L 34) B) (11, 12)
14 7 28

C) (4,2) D) (% -1 %)

2T gsgsus math-worksheet.ory

20) Endpoint; (—2%, %) midpoint; (-1, 1)

5.3 1
wEid) el
o[22 ofiid

16 8 16

22) Endpoint: (4% O) midpoint: (5 l)

A) (—22, —1) (1—11 l)
7 14" 4
13

24) Endpoint: (22, —Z), midpoint: (23, 11)
6 6 8 5

) ( 3 l’ 3) ) (5 163)
2 80
C) (ﬂ,_lﬁ) D) (1£ 31_7)
48 60 12 30
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Answers to Assignment (ID: 1)

1) B 2) B 3) C 4) C
5) A 6) D 7) A 8) A
9) D 10) D 11) C 12) C
13) D 14) D 15) A 16) A
17) B 18) B 19) C 20) A
21) D 22) A 23) A 24) D

2 gegss path-wsorlsheeh ory
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Geometry

Assignment

Name

ID: 2

Date Period

Find the other endpoint of the line segment with the given endpoint and midpoint.

1) Endpoint: (—31 —31), midpoint: (% —2)
5 5 3 3

Y |
22 15 15

o[22 o[
30 30 2 2

5) Endpoint: (4% —2), midpoint: (0, 3%)

2 .7
A) (2? —25) B) (2,2)
o212 ot
58 572

7) Endpoint: (1, 1), midpoint: (2% —%)

7 2 11
ol o)

C) (4l %) D) (-1, 5)

= gagsgs.mabh-worksheeh.ory

2) Endpoint: (—ll, —ll), midpoint: (2 Z)
6 2 75

A (11112 B) (321,42
3" 35 42" 710

C) (6,7) D)( éi 1290)

5 2 4
4) Endpoint: {1—, 1—|, midpoint: [——, 1
) Endp (6 3) P (3 )

3 1
B) (lz’—z)

7 1 11
o3 o 53)

A) (-3, 4)

1 2 1
6) Endpoint: [-2—, —|, midpoint: [1—, 1
) Endp ( 4 3) P (2 )

11
A) (51, 15) B) (-1, 5)

o2 o2
8 6 24" 4

8) Endpoint: (12, —11), midpoint: (2 l)
3 6 73
A) (1, 3_7) B) (i, _i)
4 42 42 4

o [s3o3) o (1403
2 2 21 6
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10) Endpoint: (i —l) midpoint: (12, i)
3 6 7 4

9) Endpoint: (—2% 4—), midpoint ( 2)
1 4 11
A) (4— -8 ) B) (5,55) ) (_E’_i) B) (0, -6)
o(5-i) b I LI
21 4 12 56 21 3

o018 ol ([2ed) e [ha
4 84 2 21 4 1 4 15
1 1 3 7 19 17
C) (15, —) D) (g, IE) C) (~1,-3) D) (—15, Z)

13) Endpoint: (i 31), midpoint: (E —23)
2 2 5 4

A (_9 _9) 8) (21,__31) A (_12,__23) 8) (_2_1 ,_”)
10 2" 40 6 24 12' 24
31 51 1

C) (—0 38) D) (-5, -2) C) (6g g) D) (—5,5)

15) Endpoint: (—4, —%) midpoint: (0, %) 16) Endpoint: (% 1%) midpoint: (0, —%)

7 7 7 11
A) (4 E) B) (-4,-1) A) (—g,—z) B) (16 12)
0 ( 2 i) D) (_2,_£) o) (12,_L) D) ( L 1)

3" 16 48 48 12 2 2

17) Endpoint: (i —E) midpoint: (12, Z) 18) Endpoint: (2 13), midpoint: (1, Z)
7 8 8 6 6 5 6

1 1 53 25 1 11
A) (‘65’ 55) B) (E ‘15) A) (1.-2) B) (lz E)
o) (2 9 4 5) D) (_ 81 ,12) o) (_L,E) D) (12, IL)

28" 24 112 48 12 60 60 12

= gagsgs.mabh-worksheeh.ory
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19) Endpoint: (—§,42), midpoint: (Z —6) 20) Endpoint: (—2,—1), midpoint: (—i —22)
7 3 4 7 2 6
A) (61,_11) B) (42 _162) A) (_l, 18) B) ( L _21)
2 2 14 3 4 84 14 6
0 (IE _21) D) ( =) 51) 0 (21, 2) D) ( L _52)
21 8 56 3 2 21
4 5 3 1 5.5
21) Endpoint: [-—, 4—], midpoint: [—-—, 1 22) Endpoint: (-—, —6], midpoint: [3—,2—
)p(56) p(z) )p(S) p(66)
wlhd) e ksl R A Y EE LS
60 4 22 3 60 12
0 (i, 1£) D) (_21, _22) (1_ _6) D) (72, 11%)
20 12 5 6 15 3
23) Endpoint: (Z l) midpoint: (12) 24) Endpoint: (i i) midpoint: (2%, l)
4 2 4 2 4 56
1 3 3 3 5
A) (-2 B) [ —— A) (4,2 B) [3— ——
J-E LT 62 e )
oL oL o) o2
2 8 8 8 60 20 24

2T gsgsus math-worksheet.ory

math-worksheet.org



Answers to Assignment (ID: 2)

1) B 2) B 3) A 4) D
5) D 6) A 7) C 8) D
9) A 10) D 11) B 12) A
13) A 14) C 15) A 16) A
17) C 18) B 19) B 20) D
21) D 22) D 23) A 24) B

2 gegss path-wsorlsheeh ory
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Geometry

Assignment

Name

ID: 3

Date

Find the other endpoint of the line segment with the given endpoint and midpoint.

1) Endpoint: (i 22), midpoint: (l 42)
4 3 2 6

1 1
A) (-2,0) ) (g -1 E)
qﬁﬁ mﬁiﬁ)
4 24 3

3) Endpoint: (ll, —2i), midpoint: (21, 21)
4 5 8 8

A) ( 13 _2g) B) (_31 27)
16" 80 40" 8

q@uﬂ) mpgg
2" 720 2

5) Endpoint: (—31, —22), midpoint: (—31, l)
27 4 2

S e IS S
28 8 7

1 1 17
ofs2) o[l

7) Endpoint: (—31, —21), midpoint: (2, 3%)
2 4 3

( ) B) (7—1 9—7)
2 12
) ( 7 22 ) ) (23' 223)
86 4 24

= gagsgs.mabh-worksheeh.ory

2) Endpoint: (22, —2), midpoint: (42, 31)
5 8 5
Nvﬁq m@;&)
5 80 22
qkﬂf) m(9 ﬁ)
5 80" 10

20

4) Endpoint: (—2%, —21), midpoint: (41, 2)
3 8 45

|2 |
A (11l s2 B) (212 3L
6" 40 48" 40
o) 21, 5L p) (3L 177
272 24" 80

6) Endpoint: (—ll,—ﬁ), midpoint: (4
2 6
N@ﬁﬂg mpL%
6 6 12 6

1 2 7
oft) o[zl

wlN

3 l)
2

1 3
8) Endpoint: [2—, ——]|,
) Endp (2 5)
ol
20 15

0[5>, 1+
100 15

midpoint: (41 l)
53

o1

19
D) (2 2%
20" 715

math-worksheet.org
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9) Endpoint: (Z 2i) midpoint: (2121) 10) Endpoint: (—12, —21), midpoint: ( 7 2)
8 5 4 2 8 4 6 3
11 3 5 1 17 7
A |-—— — B) [3— 2— A) |-6,-3 B 5—
)(1620) )(8 5) ) (6.3) )(24 12)
C) (lﬂ,zi) D) (3,0) C) (_11_5, l) D) (_H,_lé)
80 8 16 4 48 24

11) Endpoint: (—3%, 2%) midpoint: (—3%, —6) 12) Endpoint: (2% 8), midpoint: (—1, —1%)

(22) ey S EREA Y -
112 14 2 7 10 7 5
o2l olatasd) ool ofiol)
14 16 7 8 14 5 2 2
13) Endpoint: (42, E) midpoint: (—i 21) 14) Endpoint: (—li, 2) midpoint: (21 —2)
7 7 3 2 56 5
A) (3, _l) B) (31, _E) A) (7%, _42) B) (_21, 1i)
2 21 28 5 6 10 12
Y EEA Y SR o[22 olsh)
7 12 21 7 60 5 2
15) Endpoint: (32, —Zi), midpoint: (2 3) 16) Endpoint: (32, ) midpoint: (82)
6 5 8 7 7 6
A) (ﬂ, 2) B) ( 7 32) A) (122,22) B) (_2i,_i)
60 112 12 35 7 3 14 12
S (A Y B o [hat) o[-l
48 35 2 2 7 12 2 2
17) Endpoint: (5, —12), midpoint: (—29, —2) 18) Endpoint: (—2 —1—5) midpoint: (—E 41)
7 7 5 8 8 2
13 1 5 2 17 3
A) 13—, — B) [-10—, —2— A |-—, 3— B) (-2,2
)(147) )( 7 7) )(80 16 )( )
C) (1i —23) D) (-1, 4) C) ( 16—7 13) D) ( 19 101)
14 7 80 16 200 8

= gagsgs.mabh-worksheeh.ory
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19) Endpoint; (—% —1%), midpoint; (-1, -1) 20) Endpoint; (1, —lg), midpoint: (% 5)

13 4 2 .1
A) (8,-4) B) (—1%,—1) A) (2, 117) B) (_7,32)

1o 2 1 1 2 1
of53) o5 o33 oy
21) Endpoint; (7 i) midpoint: (3l —5) 22) Endpoint: (1, -1), midpoint: (% 2)

. 14 ) . 2! . i) ) - 31 3
3 11 |
A) (-3,5) B) (0, —102) A) (5,45) B) (35, 1)
3 7 7 3 11 |
o) o) o fc3) g

23) Endpoint: (—i, —12), midpoint: 1, —22) 24) Endpoint: (—l,—ll), midpoint: (2 11)
4 4 4 2 3 7 4

5
1 13 13 .5
A) (0,-2) B) (—15,—0 A) (1§,3g) B) (5,3)
(33 ofisl) ek ek
2" 40 4" 720 28" 24 12 56
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Answers to Assignment (ID: 3)

1) C 2) C 3) C 4 A
5) B 6) A 7) B 8) C
9) B 10) B 11) D 12) B
13) D 14) A 15) B 16) A
17) B 18) D 19) C 20) A
21) B 22) A 23) D 24) A

2 gegss path-wsorlsheeh ory
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ID: 4

Geometry Name
Assignment Date Period
Find the other endpoint of the line segment with the given endpoint and midpoint.
. 1 . . 3 . 7 5
1) Endpoint: (—7, —32), midpoint: (-2, -7) 2) Endpoint: (—g —7), midpoint: (—g _Z)
ST Y N e
4 8 2 16 40 40 2
oY SR ofii) oL
2 8 2 2 80 8
3) Endpoint: (—2, 41), midpoint: (i é) 4) Endpoint: (29) midpoint: (—23, 23)
4 2 4 7 5 7 5
AW£fgg m@iﬁ) N@iﬁl) Bw4ig
4 14 8 56 14 10 7
Q@Lg mpué) qpiq m@ug
22 28 5 35 22

5) Endpoint: (—£ —Z), midpoint: (—32, —l) 6) Endpoint: (§ 21), midpoint: (0, 22)
7 4 4 7 6 6

5
w2 e (i w4 o 11
56 40 56 40 7 3 22
qpﬁmﬁ mpﬂ) qﬁai) m@;ﬁ
14 20 2 84 12 7 2
7) Endpoint: (32, 2), midpoint: (li, li) 8) Endpoint: (£ i) midpoint: (—ll, —1)
7 5 7 8 2 35
M@Lg a@hﬁ) M@Ag BWHﬂ)
2 7 35 2 48 20
o[22 oS o[ L2 ofalal)
70 14 35 7 16 30 24 10
9) Endpoint: (l 11), midpoint: (l —13) 10) Endpoint: (31, §) midpoint: (1, 22)
6 7 3 5 65 8
Awdﬁg agiﬂﬁ) N@ﬁ) m@i,ﬂ)
2 12 35 2 12 80
QG4% mﬁf% q@éﬂg m@;ﬁ)
2 35 84 30 60 16 6 20
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53 3 3 9 3
11) Endpoint: {2—, —|, midpoint: (7, 2 12) Endpoint: |-1—, 3—|, midpoint; |-—, ——
) Endp ( - 5) point: (7, 2) ) Endp ( : 4) p ( - 2)

A) |3, ll) A) (11,_1i) B) (_E’ —63)
2 40 16 20 4
1 .2 19 _5
B) (11—,3— C) (-4, -3 D) |[-—, 2=
) (1453] ) (-4,-3) ) [F23)
c) 1ﬁ,4l)
60 2
o [ 2)
12 10
13) Endpoint: (3l H) midpoint: (—6, 3) 14) Endpoint: (41, 1), midpoint: (—i i)
4 6 5 5 37
13 4 13 1
A |2—, 2— A) |-6—, — B) (4,2
) 24 5) )( 15 7) )( )
SYRRRA o[2-5)  of22)
4 30 5 21 30 14
o [12.4)
8 60
D) 1l -2
2!
15) Endpoint: (41,—1), midpoint: (2 5) 16) Endpoint: (ll,—i), midpoint: (21,—12)
4 6 7 32 4 6
A) 12,22) A) (—i, i) B) (31, —21)
24 14 12 24 6 6
[ 1 11 1
B) [-—, 2 C) |-— — D) (-3,—4
) (-3 ) ) ( ” 6) ) (-3,-4)
0 (=22, nl)
28 6
D) 12,—3L)
56 12
17) Endpoint: (—ll, 6), midpoint: (2 —3§) 18) Endpoint: (—2%,32), midpoint: (—l l)
3 5 7 3 6 8 4
29 13 1 7 1
A) (6,3 B) |-—4— A =2 B) |—, —
) (63) )(30 14) )(2 ) )(12 16)
C) (21,—12) D) (2i, —132) C) (—12, 12) D) (21, —31)
3 35 15 7 48 24 12 3

= gagsgs.mabh-worksheeh.ory

math-worksheet.org



19) Endpoint: (—31, 41), midpoint: (é 42) 20) Endpoint: (ll, 2), midpoint: (21, 31)
3 3 5 6 2 4 7

1 4 1 2
A) (—1,45) B) (—23,—2) A) (3,47) B) (-3, -4)
o) (1, 3L) D) (52, 51) o) (13, zﬁ) D) (_3, _i)
2 60 15 3 4 56 8 7
ot (17 2) midooint: (3.1 22 ot (23 1) midooing: (32 1.1
21) Endpoint: (1 g’ 5), midpoint: (32, 27) 22) Endpoint: (4, 3 2), midpoint: (3 5 12)
A) (1£,22_5) B) (51,41) A) (21,22) B) (6;_1)
80 28 8 35 8 20 20 2
o) (_B, _2) D) (1, _41) o) (_1, 61) D) (_12, 1)
16 35 2 2 2 40

23) Endpoint: (—l 53), midpoint: (—2, —31) 24) Endpoint: (41, ll), midpoint: (2 1)
8 5 3 2 2 2 4 8
A) (25—1, L B) (—33,—123) A) (3,1) B) (11, —3)
80 12 24 5 16 2
o) (22,42 D) (-1, 31 0) [-2,-11 oy 121
48 20 22 4 8 16

b2 s mabh-vierksheeh.ory
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Answers to Assignment (ID: 4)

1) A 2) B 3) A 4) B
9 C 10) D 11) B 12) B
13) B 14) A 15) C 16) B
17) D 18) D 19) D 20) A
21) B 22) B 23) B 24) C
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ID: 5

Geometry Name
Assignment Date Period
Find the other endpoint of the line segment with the given endpoint and midpoint.
. 1 _1 . . 7 2
1) Endpoint: (g 75) midpoint: (6, 1) 2) Endpoint: (0, g) midpoint; (7 —2)
(2] sl o ford
12 4 7 8 2
B) (21, 1) o (L,_ﬁ) - (_1 11)
2 16 7 7 16
C) 32,31)
6 2
D) (112, _sl)
6 2
I 1 1 7 2 5 3
3) Endpoint: |—, 1—], midpoint: [-3—, —— 4) Endpoint: |-—, -3—], midpoint: |—, ——
 expin 115} mipon: (55, ) e (5, 25), mipic )
A) (1i 12) B) (i —22) ( 2— —) B) (—ll, —11)
14 84 14 84 4 12 6 6
3 10 5
C) (-1,3 D) [-6—=, -3— 1—4 D) |4 —
LR 57t B

2 1 1
5) Endpoint: {2, —|, midpoint: {4—, 1—
) Endp ( 7) P ( 2 2)

7 1 1
6) Endpoint: [——, 1—|, midpoint; |-3—, 2
) Endp ( 5 4) P ( 3 )

1 17 4 3 3 o)

A) (1’2) B) (_IZ,_g) A) (_SE’ZZ) B) (_E’_E)
1 5 I .1 29 3

C) (17, 3) D) (7,2—) C) (25, 15) ) (_30,_§)

1 8 1 1
7) Endpoint: |—, ——], midpoint: [-1—, 2—
) Endp (5 5) P ( 2 2)

8) Endpoint: (—2, l) midpoint: (—ﬂ IE)
2 7 7

)( 7’1) )(31’41) )( 2’ 19) )( 3’3)
C) (—3—1,6—3) D) (—17 — —1) C) (——6 3—3) D) (5—1,—4—1)

= gegsgs.mabh-verirsheeb.org
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1 1 4 7 1 10
9) Endpoint: |-5, —1—], midpoint: [-2—, —— 10) Endpoint: [0, ——], midpoint: {-2—, —
) Endpoin ( 5) midpoin ( 5 3) ) Endpoin ( 4) midpoin ( p 7)
A) ( 1L L) B) (_1, 21) A) (_3, 21) B) (IL _12)
4 15 2 2 12 56
ofol)  ofakal) o[L-2) o [ukal)
15 10 12 8 84 3728
11) Endpoint: (2,—3), midpoint: (3143) 12) Endpoint: ( 2 11), midpoint: (12,—1)
4 5 4 36 3
ol o) o apin) eby
10 4 8 40 6 12 43
C) (52, 101) D) (—41, —51) C) (5, 11) D) (4, —31)
5 4 2 2 2 6
13) Endpoint: (i E) midpoint: (—31,31) 14) Endpoint: 21, 1), midpoint: (22,31)
33 2 4 2 8 8
A) ( > —11) B) (—81,55) A) (71,6l ) (i,— 7)
12" 24 36 22 16 16
1 3 .1 1 3
C) (2,-3 D) |I,—— C) |1—,3— D) |2—,6
) (2,-3) ) ( 8) ) ( 733 ) ( )
15) Endpoint: (—3—2) midpoint: (31,22) 16) Endpoint: (—ll, i) midpoint: (—22, O)
2 4 25 23 5
A) (1,41) B) ( 2l —lﬁ) A) (£ z) B) (21, 0)
2 2 40 20 3 2
o) (81 6L) D) ( S 22) o) (_L,_li) D) ( 7 11)
220 8 20 12 10 100 3
1 5 4 7 4 1
17) Endpoint: [-2—, ——|, midpoint: -1, — 18) Endpoint: [—, —|, midpoint: [5—, 0
 enpin 2.3 i (1.5} ) o (.5}, mipine 5.
A) (ll, —2) B) (—lﬂ,—L) A) (6—721) B) (9£ —i)
2 112" 10 80 12 24 5
1 11 9 53 7 2
C) |—2— D) |-— — C) |-2—,— D) (1,-2
) (8 35) ) ( 16 70) ) ( 48 5) ) ( )
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19) Endpoint: (12, 1) midpoint: (—22, —13) 20) Endpoint: (—3%, 11), midpoint: (E i)
8 5 5 3 7 4 7 2

A) (31, _11) B) (ﬁ, _2L) A) (_21, _l) B) (11, _1)
2 2 80 30 14 8 2
0 (2L, ﬂ) D) (_61_7, _32) 0 (61, 12) D) (_IL, 12)
80 15 40 15 7 4 56 28
21) Endpoint: (43, —31), midpoint: (—z 2) 22) Endpoint: (li, O), midpoint: (81, —22)
7 3 33 6 2 3
o[ (2] o (Lat) o fish sl
21 3 422 12 12 6 3
23 1 1 1
C) (12—, 2— D) (-2,-1 C) (3,0 D) |-3—, 1=
)(42 2) ) (-2,-1) ) (3,0) )(3 3)
23) Endpoint: (22, E) midpoint: (—1, —31) 24) Endpoint: (2 —2), midpoint: (3, —32)
6 7 6 6 5
A) (2, _31) B) (_42, _81) A) (_l,_l) B) (_IL, l)
2 6 21 125 1210
0 (IE, 2£) D) (22 _2L) 0 (51, _41) D) (_11, o)
12 84 84 12 6 5 2

2T gsgsus math-worksheet.ory
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Answers to Assignment (ID: 5)

1) D 2) A 3) D 4) D
5) D 6) A 7) C 8) C
9) C 10) D 11) C 12) D
13) B 14) D 15) C 16) D
17) C 18) B 19) D 20) C
21) A 22) B 23) B 24) C

2 gegss path-wsorlsheeh ory
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ID: 6
Geometry Name

Assignment Date Period

Find the other endpoint of the line segment with the given endpoint and midpoint.

4 1 11 11
1) Endpoint: [-3—, 4], midpoint: -1, 22— 2) Endpoint: [-1—, —|, midpoint: {2, ——
 encpons 35, 2) miporns -1, 23) 2 Enpon 11,3, migpans 2 7
Mgvﬁ) mpig N@Lﬂ) @Piﬂ
10 4 5 5 6 2
o) ol o[ L4 ol
2 5 4 20 12 5 6
3) Endpoint: (42,—i), midpoint: (-1, 0) 4) Endpoint: (31, 2), midpoint: (—33,—2)
4" 5 4 8 8
Mpﬂm) mbﬁﬁg N@iﬂﬁ) m@igg
2 40 2 16 16 8 2
q@1~% Dw4ig cw4i4g [»tmdg
8 5 4 5 2 2 4
3 8 1 4 3 1
5) Endpoint: [—, —|, midpoint: [-—, 0 6) Endpoint: [——, 4—], midpoint: (-1, —
) p'(27) 'p'(z) ) p'(s 4) "“(6)

w253 8 i) (23 ()
2 7 28 3 12 24 12

1

4
4 1 1 I 7
off) o[l of1s) ol

7) Endpoint: (22, —Z), midpoint: (2 2) 8) Endpoint: (2 —21), midpoint: (—E 31)
4 8 37 3 2 7 8
wE-B) e (B w2) e (2]
24 112 16 21 12 112 21 4
7 17 4 3
C) |-—2— D) (-2,0 C) (1,0 D) |l —, -3—
) (peg) o ) (1,0) ) (12 )

= gagsgs.mabh-worksheeh.ory
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— S A S P | [ RS
9) Endpoint: (4,0), mldpomt.( 5 8) 10) Endpoint: (2, 26), mldpomt.( . 14)
1 11 .3 1 13
A) (—5, —1) B) (—4%, 12) A) (_E’ —15) B) (0, 2)
obdl ol elaal el
8 80 40 16 12 24 373
11) Endpoint: (l —i) midpoint: (2 —2) 12) Endpoint: (l —2) midpoint: (—3l —2)
I0-214, I0-4. I0-4,, p-z,
35 I 3 1
) (—g, g) B) (—g,—g) A) (—72, —2) B) (-3,-1)
1 1 1 7 7 3
ofhrt) o ofizd o2

13) Endpoint; (—% 2%) midpoint; (—2%, —%) 14) Endpoint; (% —1), midpoint; (-1, 0)

A) (2, _ﬂ) B) (11, _sl) A) (61, 3) B) (_31 1)
6 112 2 2 2 7
o) (_ 13 _41) D) (li, 12) o) (12,_1) ) (z,_l)
14 12 28 48 7 2 7 2
15) Endpoint: (—£ 2), midpoint: (—Zi, —1) 16) Endpoint: (ﬁ 8), midpoint: (8, i)
6 7 7 3
13 4 1 I 1
A) (-2, 4) B) (—35, —4) A) (—37, 35) B) (35, 65)
YR Y ) o fistst) o2
84 2 12 14 7 3 7 3
e (3 midooing: (4L 4L e (-7 23 midooint: (11
17) Endpoint: (—7, 6)’ midpoint: (42,42) 18) Endpomt.( 5,25), mldpomt.( 16,2)
A) (92, 82) B) (2 41) A) (3, i) B) (1, _31)
7 6 84 2 5 12 2
17 1 14 2 7 3
C) (—ZE, —25) D) (-4,0) C) (—E, 1§) D) (—a, 1—0)

= gegsgs.mabh-verirsheeb.org
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19) Endpoint: (—8, _3) midpoint: (l l) 20) Endpoint: (—l i) midpoint: (32, —21)
3 36 33 5 2

1 5 2 1 13 11
A) (3,-2) B) (_43’_5) A) (73, —65) B) (—13, 15)
11 2 19
C) (—4? Z) D) (8? 1) C) (5, —20) D) (2,0)

21) Endpoint: (—31, —61), midpoint: (3, —li) 22) Endpoint: (13, —21), midpoint: (i 0)
4" 6 5 4" 72 4

W (5] B sy ~ (5-15) o) [-53]
8" 60 2 2 4 42

o) (_41_7, l) D) (91,2§) o) (_11, _51) D) (_3, 3)
24" 10 4" 730 2" 72 8’8

23) Endpoint: (43, 41), midpoint: (—1,1) 24) Endpoint: (ll, _3) midpoint: (12, 2)
4 8 6 4 3 8 5

13 1 7
o28) o) SRR ]
4 24 8 48 24 80 16 15

b2 s mabh-vierksheeh.ory
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Answers to Assignment (ID: 6)

1) B 2) A 3) D 4) D
5) A 6) A 7) C 8) B
9) B 10) D 11) D 12) A
13) C 14) B 15) B 16) C
17) A 18) C 19) D 20) A
21) D 22) B 23) C 24) A

2 gegss path-wsorlsheeh ory
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Geometry

Assignment

Name

ID: 7

Date Period

Find the other endpoint of the line segment with the given endpoint and midpoint.

17 3

1) Endpoint: {-1—, —|, midpoint: |-5, ——

o 11.7). 5.3
o) ol
8 4 2 4

1 3.5
of) o]

3) Endpoint: (% —2), midpoint: (6, —2%)

5) Endpoint: (—ll, —i) midpoint: (42, —22)
2 5 3 3

W (s @ g
12° 30 20

oLy o)

7) Endpoint: (41, —21), midpoint: (—l 21)

2 6 4 8
w2 o (k)
48 12

8
C) (3,-4) D) (1% 115—6)

= gagsgs.mabh-worksheeh.ory

5 11 3
2) Endpoint: (4, —], midpoint; |—, -3—
) p'(s) 'p'(7 5)
5 1
A) |2—, -1— B) (-2, -3
)( - 70) ) (-2,-3)
Q) (_é, _82) D) (11,21_9)
7 15 14 30

4) Endpoint: (42, 2) midpoint: (l —i)
36 4 2

ey e el
24 6 6 6

1 3 5
of=L) ol

6) Endpoint: (ll, —2), midpoint: (—21, —E)
8 4 3 8
A) (1, 1) B) (_L,_lﬂ)
2 16 48

1
o2 (i3l
24 2 48 16
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9) Endpoint: (—32 32), midpoint: (3 —li) 10) Endpoint: (31, —12), midpoint: (l —2)
7 8 2 5 7 7 3

19 57 17 2 1
A) (0, -3) B) ( 2§ 2%) A) (IE 7) B) (—35, —6)
o) (62 _72) D) (_ 13 ,_i) o) (_ZE _24) D) (é, _2)
7" 40 112" 20 21 77 76

11) Endpoint: (%,—12), midpoint: (—2, g) 12) Endpoint: ( 1 21), midpoint: (22, 5)
3 5 5 6’ 4
o[B8 e (i o [ad) e i)
30 5 2 4 2
0 (_4%,21) D) (11,_1) 0 (5_ 71 ) D) (11,31)
3 5 3 10 3 2 6 8
13) Endpoint: (—22, i) midpoint: (33, 11) 14) Endpoint: (—1, 42), midpoint: (l 41)
7 2 4 3 8 2 2
A) (loi 11) B) (_ﬂ 22) A) (11 21) B) (2,42)
14 6 28 24 16 2 8
bael ok el el
56 12 2 2 2 4 16
15) Endpoint: (—i 2), midpoint: (ﬁ E) 16) Endpoint: (§ 32), midpoint: (—22, —32)
5 7 8 5 6 7 5
11 1 43 32 1
A) (-3, -1 B) [2—, -1 A) 12—, 2— B) [-5—,-5
o) e Py an ol
o) (—ﬂ, E) D) (l, ﬁ) o) (2i 33—7) D) ( 618, —109)
70 16 10 112 70 60 35 30
5 6 3 4 7 5
17) Endpoint: {1, —], midpoint: |3—, -4 18) Endpoint: [-—, —], midpoint: |-—, ——
) Endp (6) P (7) ) Endp (23) P (4 3)
A) (2, _L) B) (62, _82) A) (l, 11) B) (_2, _42)
12 14 7 6 8 2 3
3.5 1 1 17
C) |-1=,2— D) (7,2 C) |-3,—— D) |-— -1—
[1325) o6 ) o b

= gagsgs.mabh-worksheeh.ory
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55 5
19) Endpoint: |-—, —], midpoint: [1, 4—
) Endp ( 3 8) P ( 8)

A) (31, 1%) B) (33, 83)

2 38
25
o) [-11, D) [-22,212
3 48" 16

21) Endpoint: (—i —11), midpoint: (l 2)
2 2 23
A) (21,23 B) (—6, ll)
2 6 2

1 1 7
o] o]

1 3 5
vg) el
o) (lé, i) D) (11, li)

77 2

2T gsgsus math-worksheet.ory

20) Endpoint: (O, —%) midpoint: (—2%, —31)

5
13 317
A) (12, 11—0) B) (——, —2—)

4 1
ofssf) o)

24) Endpoint: (O, i) midpoint: (li, 41)
8 4 7

A) (_1, 2 ) B) (_sl, 0)
8 112 2

o) (31, 72) D) (1,22)
2 16"~ 56

math-worksheet.org



Answers to Assignment (ID: 7)

1) B 2) C 3) C 4) B
5) D 6) C 7) B 8) B
9) C 10) C 11) C 12) C
13) A 14) B 15) B 16) D
17) B 18) B 19) B 20) C
21) A 22) A 23) C 24) C

2 gegss path-wsorlsheeh ory
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ID: 8
Geometry Name

Assignment Date Period

Find the other endpoint of the line segment with the given endpoint and midpoint.

1) Endpoint: (0, %) midpoint: (—Sé) 2) Endpoint: (—7 44), midpoint: ( j —22)

7
1 1 77 .55
A) (5’ —35) B) (-16,2) ( ) B) (1% —15)

T I

. . 7 . 5 .
3) Endpoint: —21,0, midpoint: 2i,— 4) Endpoint: —32,—, midpoint: 31,3
8 7 8 7 8 2
7
A 2L - L A) (102,52
112 16 7 8
B) 8i 13 B) _31_7’_11
56 4 28 16
o) (<11 1 3L o) [-18L 51
16 112 112 4
D) 61, —6 D) 31, -2
2 2

5) Endpoint: (41, —ll), midpoint: (—33, —E) 6) Endpoint: (42, 1) midpoint: (22, —li)
6 4 g8 7 6 6 8 7

A (1£ > 53) B) (32, 2) A) ( 1 67 ) B) (i, _3L)
24 112 48 56 2' 112 12 42
C) ( 10£ —lé) D) (—31, —2) C) (li, ﬂ) D) (—21, 1)
12 28 2 48 84 2
S (U S O [ e a2 (3 1
7) Endpoint: (75, 4), midpoint: (2, 6) 8) Endpomt.( 6,47), mldpomt.( 7 22)
A) (3£ 27) B) (32 —23) A) (41, —92) B) (31, 1)
20 8 40 4 2 7 2
C) (1,—31) D) (—63, —113) C) (—9,—12) D) ( 2i 32)
2 5 4 7 8 8 28

= gagsgs.mabh-worksheeh.ory
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9) Endpoint: (% —E) midpoint: (—% 1) 10) Endpoint: (—21, —2) midpoint: (—22, i)
5 7 7 8 5 5 43

wE2) e (2o wE) ]
70 112 35 112 40 15 2
ofsl) o[l of12-0) o lada
2 35 28 10 24 10 15
11) Endpoint: (—31, l) midpoint: (—12, 1) 12) Endpoint: (43, 42), midpoint: (13, —32)
53 4 8 4 8 5 6
A I Y A Y 1)
40 48 10 12 16 60 40 48
0 (_l, 0) D) (_12, _i) 0 (6, l) D) (_IH, _121)
2 30 16 2 20 24
13) Endpoint: (ll, 21), midpoint: (—32, 8) 14) Endpoint: (21, 1) midpoint: (81, i)
3 4 7 4 6 6 2
A) (—2, _41) B) (zi, _21) A) (l, 6) B) (11, 42)
2 21 8 2 246
C) (12,23) D) (—Si, 133) C) (14i,2§) D) (—22—3)
247 21 4 126 24 3
15) Endpoint: (i 2), midpoint: (3 6) 16) Endpoint: (—ll, 2) midpoint: (32, 33)
4 5 3 7 8 3
A) (_51, l) B) (li, 31) A) (_51, 41) B) (81, 52)
2 2 8 10 2 2 12 21
0 (i, _2) D) (i, 10) 0 (i, 33_1) D) (_22, _ﬂ)
40 20 21 48 48 42
17) Endpoint: (ll, 23), midpoint: (0, —32) 18) Endpoint: (—E —2) midpoint: (l 21)
2 5 5 8 7 2 6
A) (2i, —11) B) (3,-7) A) (—1# —17—9) B) (—1£, 11)
20 10 16 84 112 3
0 (_11, _92) D) (2, 3) 0 (11, 11) D) (22, 6L)
2 5 4 2 2 8 21

= gagsgs.mabh-worksheeh.ory
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19) Endpoint: (—i, 2), midpoint: (3 21) 20) Endpoint: (l i) midpoint: (—32, —i)
8 2 3 4 8 4 2

A (_1L, _l) 8) (32, 22) A (i, _22) B) (2, E)
16" 6 8 "3 16’ "8 16
) (1,-6) ) (% 1%) C) (—7%, —3%) D) (—2,—2%)

21) Endpoint: (31, —1), midpoint: (i —) 22) Endpoint: (i —2), midpoint: (21, 2)
2 4 7 4 7 6 8

9 1 16 1

A) (-6,2) B) (_2?22) A) (35,42) B) (6, -2)
ofg) ofl el el
28 8’ 56 7' 48 84’ 16

23) Endpoint: (—l —i) midpoint: (—1, ——) 24) Endpoint: (1, 42), midpoint: (i i)
7 2 5 2 6 5 4

A) (—22,—1) B) (—2—23,1) A) (—1 ,2—1 ) B) (1,21)
35 2 35 2 10 24 2 2
23 19 11 31 3 1
[oex) @6 o fipa) o)

2T gsgsus math-worksheet.ory
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Answers to Assignment (ID: 8)

1) B 2) D 3) B 4 A
5) C 6) B 7) D 8) A
9) D 10) D 11) B 12) D
13) D 14) C 15) D 16) B
17) C 18) D 19) B 20) C
21) B 22) A 23) B 24) D

2 gegss path-wsorlsheeh ory
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Geometry

Assignment

Name

ID: 9

Date Period

Find the other endpoint of the line segment with the given endpoint and midpoint.

5 7 1
1) Endpoint: [—, =2|, midpoint: [3—, 1—
) Endp (6 ) P ( 3 4)

7 9 1
w222 e(a )

o[22 ol

1 1 3 1
3) Endpoint: {—, ——|, midpoint: |-—, ——
) p'(6 7) 'p'(z )
opit) ol
6 21

3
ofes] ke

1 1 3
5) Endpoint: -2, —2—], midpoint; [—, -3 —
) Endp ( 5) P (2 5)

11

A) (—45, —25) B) (3,-5)

o) ( L L) D) (_2;_1&)
4" 10 10" 20

4 8 5

7) Endpoint: |1, =2—], midpoint; [—, ——

) Endpol ( 7) et (5 3)
A) (5, 61) B) (_ﬁ, _L)
2 14 30

o) (211_2) D) (_i,_1_9)
5 21 10" 42

= gagsgs.mabh-worksheeh.ory

2) Endpoint: (2 21), midpoint: (—22, l)
3 5 4 4

A (& _11) 5) ( 2L _ll)
15 4 6 10

o L) ofi

4) Endpoint: ( 3 §) midpoint: (4% %)

5'5
7 11

A) (10% E) B) (2,-7)

0 (_ 3L) D) (_22 E)
48 80" 60

6) Endpoint: ( g —), midpoint: (1?)

9
n (112
80 10
5 2L 2L
2 2
o) [-1-12
10 80
D) (34, -1+
5 40

4 7 2

8) Endpoint: |2, ——|, midpoint: {——, ——

) Endpoin ( 3) midpoin ( p 5)
A) (l, _4_7) B) (_1, 11)
360 2

ol o)

math-worksheet.org



1 1 2 1
10) Endpoint: |—, ——], midpoint; [-—, —
) Endp (3 2) P ( 7 6)

3

9) Endpoint: (—% 22), midpoint: (4% -3

(%1&ﬁ o) (239 w(E-] ® g
2 42 3 2
ol obw ofwd ofed
40' 16 8 80 21 6 12 84

11) Endpoint: (—12, i) midpoint: (33, 0) 12) Endpoint: (21, 1) midpoint: (ll, 4
3'3 4 2'3 4

(w3 el (5 e (g

6 8 243 12 16 8 48

opr1y o (s3) 0 [-5.33) o) (0.93)
6 3 2 2 12

13) Endpoint: (2% —g) midpoint: (% —2) 14) Endpoint: (8%) midpoint: (1, 3%)

Awﬂ_i) 84424% Mglﬁ) m(éﬁg
48" 14 56" 3 876 12
) (1,0) D) (% %) C) (3%,—%) D) (—1%, —6)

16) Endpoint; (% —5), midpoint; (-2, 2)

g

15) Endpoint: (31, —31), midpoint: (22, -3
8 4 6

3

) (i, _i) B) (12 Pas ) A) (li . 1) B) (_42, 9)
16 12 24 12 16 2 8
25 5 1 1 5
(w00 of23) o
it (28 1) midooint: (12 3 e 7,5
17) Endpoint: (—47, 2), mldpomt.( 18, 2) 18) Endpomt.( 27, 6)’ midpoint: ( 5 37)
A) (61, _41) B) (_li, _1) A) (_ﬂ, _22) ) (_2, _82_5)
2 2 112 84 70 35 42
q@igj W_Bﬁi) c413fj m@_ﬁ)
28 2 28 16 35 84 2

= gagsgs.mabh-worksheeh.ory
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19) Endpoint; (4% 1%) midpoint; (—1%, 1%) 20) Endpoint; (3, —?) midpoint: (1, 1)

A) (22 _L) B) (zﬂ,_i) A) (41, _41) B) (L 1)
6 80 60 16 2 2 10
I 11 3 3
C) (2,5) D) ( 7g 1%) C) (—1,3§) D) (1 —15)
ot (3L 29) idooint [ - it (12 42 midooint: [1 32
21) Endpoint: (—36, - ) midpoint: (3, 2) 22) Endpoint: (1 o 46), midpoint: (1, 3 7)
A) (52, _2i) B) ( 21, %) A) (3,2i) B) (5 19)
6 7 4 7 14 12" 84
25 1 11 I 1
C) ( 2a —5) D) (-5, -6) C) (— 35) D) (35,25)
. 4 3 5 4 (31 o[ )2
23) Endpoint: ( lg E) midpoint: ( s g) 24) Endpoint: (25, 2), mldpomt.( 12, 25)
A) (_1£ l) B) (5 7 1) A) (_si, _41) B) (2 1 19)
60 20 1510 5 10 20° 20
3 19 11 1 19
o (w'w)  © 033 & 6.1) o) (135 50)

2T gsgsus math-worksheet.ory
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Answers to Assignment (ID: 9)

1) D 2) B 3) A 4 A
5) B 6) D 7) C 8) C
9) A 10) C 11) C 12) D
13) B 14) B 15) B 16) B
17) C 18) B 19) D 20) C
21) A 22) C 23) B 24) A

2 gegss path-wsorlsheeh ory
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Geometry

Assignment

Name

ID: 10

Date

Find the other endpoint of the line segment with the given endpoint and midpoint.

1 1 1
1) Endpoint: [——, —4—], midpoint: [-5, ——
) Endp ( 5 2) P ( 5)

o[22 e [atel
200 75 5 10
ofal) ol el
2 5 20

- 2) idnoint -4 oL

3) Endpoint: (—1, 13), m|dp0|nt.( 5 23)
17

o) o
3 1

o5 ol

3
o[-

o (510

o|’_‘ Nl*‘
v

5) Endpoint: (
1
16

o[
@@E*ﬁ

7) Endpoint: (1, ~1), midpoint: (% g)
3 1 1 1
S el
1 1
C) (0, 15) D) (_5’ 1)

= gagsgs.mabh-worksheeh.ory

2) Endpoint: (—32, Z) midpoint: (—i ll)
4 8 7 2
(L)
16 28
s}
22
2 4 15
4) Endpoint: |—, —], midpoint; [—-—, 1
) p'(ss) "“(8)
-l e[
16 12 3
quq mbﬁ%
2 48 6

6) Endpoint: (

3,42, midpoint: 2%,3l
2 5 7 2

ofaes) ofal)
20 28 28" 20
0 (31, _2) D) (3L 23)

2 14 5

8) Endpoint: ( % ——), midpoint: (1,—23)

o[ o ek)
C)( 28’ 7)

\1|u.>

math-worksheet.org
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9) Endpoint: (—l —21), midpoint: (—2,§) 10) Endpoint: (—E —é) midpoint: (—33, —33)
4 2 7 2 5 3 3
23 2 1 7
A |— -1— B) (-7,3 A 5—, —6— B) (11— 11—
) (8 28) ) ( ) ) ( 15 ) ( 12 30)
o[32at) o [a2-]) o122 okl
4" 14 8 7 3 272
13 1 9 5 9 I 1
11) Endpoint: [—, ——], midpoint: [0, — 12) Endpoint: [, ——], midpoint: |-—, ——
) Endp (7 2) P (7) ) Endp (8 7) P (2 2)
w22) e (L) w2y w2
28 14 2 2 8 7 112 2
o33 wbsl ol of
14 28 7 14 16 28 2
13) Endpoint: (§ —5), midpoint: (l 11) 14) Endpoint: (i 4i), midpoint: (—22, —l)
7 5 6 7 5 6 6
A) (_% 7 1) B) (5,_11) A) ( 6> _51) B) (sl, 2)
35 3 2 21" 715 2
0 (ﬁ _3L) D) (_12, ﬂ) 0 (ﬁ . 1) D) (15_9,2§)
70 12 14 60 35 2 84 60
15) Endpoint: (Z—l) midpoint: ( 1 i) 16) Endpoint: (2,41), midpoint: (—31,42)
6 7 4'5 2 8 8
1 2 12 1 3
A) |-1—,-6 B I— 1— A) |13—,— B) (-2,-1
)(2 ) )(335) )(44) ) (-2,-1)
s obd oki ol
84 40 24 35 16 16 4 4
17) Endpoint: (i 21), midpoint: (—5, —l) 18) Endpoint: (—22, —7), midpoint: (31, —3)
5 4 2 4 2 5
9 3 7 11 1
A) 4,0 B) [2—, 1 A) |-4— 1— B) (0,-1—
) (4.0) )(10 8) )(820) )( 2)
C) (1£ —23) D) (—10i, —31) C) (93, 61) D) ( 3l —31)
40" 4 50 T4 4'"5 8" T 10

= gegsgs.mabh-verirsheeb.org
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19) Endpoint: (—li, —i) midpoint: (31, 21) 20) Endpoint: (—3%, —l) midpoint: (l 2)
5 3 8 5 5 2 3

Mpﬂﬁﬁ) Bwaiﬁ M@iﬂg @C¢34%
20 15 2 15 2 15 4
qtﬁﬂ% m@ﬂqﬁ qpﬁﬁ) m@ﬁ)
15 80 80 30 20 6 2
21) Endpoint: (21, 31), midpoint: (—2,1) 22) Endpoint: (33, 2), midpoint: (—é 43)
4 2 5 4 7 5
1 1 1 7 17 1
A) (-1=, 1= B) (-6—, —— A) (0,-3 B) [2—,-1—
)(2 2) )(4 10) ) (0.3) )(56 5)
Q@LQJ DWﬂ_i) CWﬂﬂﬂ) “”FE”%
8 20 8 10 8 35 28 5

1 2 1 7 7 1
23) Endpoint: |1—, 2=], midpoint: [1—, — 24) Endpoint: |—, ——], midpoint; [-—, 2—
) Endp ( ) P (83) ) Endp (3 5) P (6 6)
obi] el wBe) w3
2 48 42 2 15 2
q@iﬁ) mﬁ?ﬁj qeqq m@iﬂ)
21 48 12 21 4 60 3 15
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Answers to Assignment (ID: 10)

1) B 2) D 3) C 4) B
5) B 6) D 7) B 8) B
9) C 10) A 11) D 12) A
13) A 14) A 15) B 16) D
17) D 18) C 19) A 20) A
21) B 22) D 23) D 24) D
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